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The plural of moose is ________.

Answer: ___________________

The plural of sheep is ________.

Answer: ___________________

The plural of goose is ________.

Answer: ___________________

The plural of deer is ________.

Answer: ___________________

The plural of fish is ________.

Answer: ___________________

The plural of octopus is ________.

Answer: ___________________

The plural of cactus is ________.

Answer: ___________________

The plural of tooth is ________.

Answer: ___________________

The plural of child is ________.

Answer: ___________________

The plural of person is ________.

Answer: ___________________



Answers

The plural of moose is ________.

Answer: moose

The plural of sheep is ________.

Answer: sheep

The plural of goose is ________.

Answer: geese

The plural of deer is ________.

Answer: deer

The plural of fish is ________.

Answer: fish

The plural of octopus is ________.

Answer: octopuses

The plural of cactus is ________.

Answer: cacti

The plural of tooth is ________.

Answer: teeth

The plural of child is ________.

Answer: children

The plural of person is ________.

Answer: people


